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CS-593 Microeconomic Theory

. Consider the utility function u(x,y) = xy + X +.

a. Find the marginal rate of substitution as a function of bundle (x,y).

b. If prices are px =2 and py = 4, and if income is M = 18, find the
consumption bundle that maximizes utility.

. Consider the utility function: u(x, y) =y —1/x. Let the price of good x be given by
Px, the price of good y be given by py, and the income be given by M.

(a) Derive the consumer’s demand function for good x given py.

(b) Derive the consumer’s demand function for good y given px.

(c) If we have px = 1, py = 4, and M = 10, compute the utility maximizing
consumption bundle.

(d) Compute the price elasticity of demand for good x.

. Consider the utility function: u(x, y) = 12x?y*. Let the price of good x be given by
Px, let the price of good y be given by py, and let income be given by M.
a. What is the slope of the consumer’s indifference curve at the consumption
bundle, (1,1) ?
b. Derive the consumer’s demand function for goods x and y.
If we have px = 2, py = 2, and M = 24, compute the utility maximizing
consumption bundle.

. Let (g, u) be the commodity bundle consisting of g units of good A and u units of
good B for consumer M. The utility function of M for goods A and B is defined by

u(g,u) = 3g+5u.

a. Find two consumption bundles that M is indifferent for consuming.

b. Are the goods complements or substitutes and why?

c. Consider that the price per unit of good A is 4 and the price for B is 1.

What bundle should M buy if he spends 10?

d. Represent the solution of question (c) graphically.
. Consider the utility function: u(x,y) = xy'/2. Suppose this consumer has an
income m = 12. Let the price of good x be p, = 4, and let the price of good y be
py = 1. Calculate the bundle of goods x and y that maximizes this consumer’s

utility, subject to his budget constraint.

. Suppose that the demand curve for wheat is g = 90 — 10p and the supply curve
isq = 10p.

a. Find the market clearing price and the quantity traded.
b. Compute the consumer surplus and producer surplus in equilibrium.
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Q¢ Mn Eptropiki opiletal n Xpron:

e TTOU OtV TTEPIAGPPAVEI AUETO A EUPETO OIKOVOUIKO OPENOG aTTd TNV XPAON ToU £pyou,
yia To diavopéa Tou €pyou Kal adeloddxo

e TTOU Oev TTEPINAPPBAVEI OIKOVOUIKA ouvaAlayry wg Tpoutrdbeon yia T XpAon A
TpocBacn oTo £pyo

e TTOU v TTPOCTIOPIfEl OTO Olavouéa TOu £pyou Kal adelodOX0 EUHPECO OIKOVOMIKO
OpeAog (T1.X. dlapnuicelg) atrd Tnv TTPOROAN Tou £€pyou o€ dIadIKTUAKS TOTTO

O dikaiouxog ptTopei va TTapéxel otov adeloddyo EexwploTy adcia va XpnoIuoTTolEi To £pyo
yIO EUTTOPIKN XPAON, EPOCOV auTd Tou nTnOei.
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e Tn dNAwaon AlaTipNonNg ZNUEIWPATWY
e 710 Znueiwpa Xpriong Epywv Tpitwv (epéoov uttdpxel)

Madi yE TOUG CUVODEUOHUEVOUG UTTEPOUVOETHUOUG.



Xpnuaroddtnon
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